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Math B1131, Exam #1, Fall 2012 Name KEY

Instructions: Show all work to receive full credit. Answers should be given as exact values unless
specifically asked to round. You should do any obvious simplifications, but there is no need to be
excessive.

You may use the following formulas on the exam:
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1. Find the value of the sum Z 1(5k? + 3k). (10 points)
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2. Suppose that the profit (in dollars) of g units of g product is given by. P(q) = 397q 2.3¢% -
400. Useidifferentials’to approximate the change'in profit from sellmg 0=90 ltems to selling
q=91 items. Compare this value to the true change. (11 points) . -
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3. Use the limit process to find the value of the area on the given interval and bounded by the

function and the x-axis. f(x) = 2x + 1, [0,2]. Check your solution by using the Fundamental
Theqrem of Calculus. (25 points)
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4. Integrate. (12 points each)
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5. Findy and the values of all the constants given y' = e* — 2x for the initial conditions y(0) = 5.
(12 points)
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6. Integrate. (12 points each)
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7. Use Simpson’s rule to approximate the value of the integral flz In(x) dx, with n=4. (20 points)
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8. Find the area between the curves y = 2x,y = x(x — 3)2. Sketch the region. (15 points)
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